HVARRIE, oy /v RO RER

7 RNO  QATDQS Bihs I~V = AMuyb A==y ORG

Linalool JFe—) 42.400%
Linalyle acetate VIV T R T—h 37.500%
Octanone—3 A78)/=3 1.440%
Cis B Ocimene VA= B AV AV 1.350%
Trans B8 ocimene NIV A= B =AY AV 0.770%
a —Terpineol a —TIWVE XA =)V 0.570%
Camphre/Camphor BTN/ 77— 0.490%
Terpinene—1,0l-4 TIVE S ~1,0l-4 0.380%
Lavandulyle acetate INVT A VT T 0.290%
Limonene Ve 0.150%
Lavandulol INVT an—) 0.070%
Cineole 1.8 VAA—=IV 1.8 0.040%



HVARRIE, oy /v RO RER

P2

yhNO  QATDFS

WBimg I~V = MUyb A—=y7 ORG

Linalool

Linalyle acetate
Caryophyllene
Borneol

Cis B Ocimene
Humulene
Octanone

Trans 8 ocimene
o —Terpineol
Camphre/Camphor
Lavandulyle acetate
Hexyl butyrate
Limonene
Terpinen—4-OL
LLavandulol

Cineole 1.8

JFo—nv
UFINT X T—h

VI EVEI2

R NVAA—IV

VA= B =AY A
AN

AI3 )

NIV A= B =AYV AV
o —TIVE A=V
WIS N T 77—
INVT 2YNTET—h
~NJYIWVT FL—h
JERY
TIVE X —4—0l
INVT an—)l
VAE—IV 1.8

41.740%
35.040%
2.630%
1.960%
1.810%
1.700%
1.410%
1.110%
0.850%
0.680%
0.550%
0.430%
0.200%
0.160%
0.050%
0.030%



HVARRIE, oy /v RO RER

P 3

yhNO  QATDES

WBimg I~V = MUyb A—=y7 ORG

Linalool

Linalyle acetate
Caryophyllene
Borneol

Cis B Ocimene
Humulene
Octanone

Trans 8 ocimene
o —Terpineol
Camphre/Camphor
Lavandulyle acetate
Hexyl butyrate
Limonene
Terpinen—4-OL
LLavandulol

Cineole 1.8

JFo—nv
UFINT X T—h

VI EVEI2

R NVAA—IV

VA= B =AY A
AN

AI3 )

NIV A= B =AYV AV
o —TIVE A=V
WIS N T 77—
INVT 2YNTET—h
~NJYIWVT FL—h
JERY
TIVE X —4—0l
INVT an—)l
VAE—IV 1.8

41.740%
35.040%
2.630%
1.960%
1.810%
1.700%
1.410%
1.110%
0.850%
0.680%
0.550%
0.430%
0.200%
0.160%
0.050%
0.030%



HVARRIE, oy /v RO RER

2 hNO  QATDBS BiHg I~V = MUy A=k =y7 ORG

Linalool JFe—) 43.500%
Linalyle acetate VFINTET—h 36.900%
Borneol K VA=V 2.500%
B —Caryophyllene(E) B =474V /(E) 2.500%
Octanone—3 A8 )/=3 1.400%
B —Farnesene (E) B-77vxt (E) 1.100%
a —Terpineol a —TIVE A=) 0.870%
Terpinene—1,0l-4 TIVE S ~1,0l-4 0.860%
Lavandulyle acetate INVT A VT T 0.680%
B —Ocimene(Z) B =AY A7) 0.680%
Camphre/Camphor BTN 77— 0.640%
B —Ocimene(E) B -4tV A/(E) 0.460%
Octenyl acetate AIT=NVT 2 T—h 0.450%
Geranyl acetate I VT YT —) 0.430%
3 —Caryophyllene oxide (E) B=hAT4V AX AN (E) 0.390%
Hexyl butyrate ~NIYWVT FL—h 0.370%
Geraniol VA= 0.330%
Lavandulol INVT am—)v 0.310%
Myrcene N2 0.300%
Camphene YN 0.270%
Neryl acetate LINT L T—h 0.220%
o —Cymene 0 —VA/ 0.150%
Germacrene D rVvRIVYD 0.130%
Hexyl acetate BElR~F Y v 0.120%
Limonene Ve 0.120%
Nerol =)V 0.110%
Cineole 1.8 VAA—=V 1.8 0.070%
a —Pinene a-t v 0.070%
8 —Pinene B-t%v 0.050%



